STATUS UPDATE OF DGR EMPANELLED SECURITY AGENCIES FOR UT OF J&K AND UT OF LADAKH

DATA UPTO 17 JAN 2025

- 1. Refer MoD/ DESW Guidelines for operation/ functioning of DGR empanelled ESM Security Services vide their No 28(75)/2020-D(Res-1) dated 13 May 2021 and Corrigendum No. 28(75)/2020-D(Res-1) dated 23 Jun 2021. The Data uploaded herein is compiled duly based on 'Reports and Returns' submitted by Proprietors & their Principal Employer (including requisitions & sponsorships) to/with DGR/ DRZ's.
- 2. Number of guards/ total guard months reflected against each agency is subject to minor revisions(s) especially 'Under Negotiation' (U/N) column based on differences (if any) between number of guards sponsored by DRZ's with due date vis-àvis their materialization as / if / when reported by the Principal Employer / concerned Proprietor (the onus rests with the proprietors to report difference with documentary proofs).
- 3. DGR New Delhi will issue Empanelment Certificate for a duration of Five (05) Years or upto the age of 60 years (whichever is earlier) as per Para 6(a) of MoD OM 13 May 2021.
- 4. Following documents / details will produced at the time of issuance / renewal of Empanelment Certificate (in Original):-
- PAN Card
- ESM Identity Card (Issued by ZSB)
- PSARA License
- Revised Affidavit by Ex-Servicemen (Officers) for DGR Security Agency scheme (Original)
- Current Bank Account in the name of agency (Copy of passbook duly attested)
- Proof of office (Copy of Rent Agreement / Ownership documents & Landline Bill)
- Mobile number & Email ID
- GeM Vendor Code
- Form 26 AS will be downloaded in physical at DGR
- Photographs 02 Numbers (Passport size)
- 5. "D" denotes "Documentary deficiency/ Violation". Concerned offices may be approached with requisite documents for removal of "D". Proprietors in operation list with remark "D" will not be considered for sponsorship irrespective of Seniority/
- 6. Proprietor whose Empanelment Certificate is expired/ about to expire is requested to contact respective DRZ for renewal
- 7. Proprietors whose security agency has been placed in 'D' are required to submit the pending documents to respective

(a) Status: Operational

S. No	Emp No	Name of Security Agency		Guard D	etails		
140	NO		Running	U/N	Total	Cumul ative	Remarks
1	5974	Yashpal Tora Security Agency Gharunda Lane No. 19, Down Side, Greater Kailash, J&K – 180011 Mob: 8847497616 Tele No: 0191-3583028 Email: palyashtora@gmail.com	18	0	18		(a) Details of availed guards 11 gds for 24 months = 264 12 gds for 24 months = 288 20 gds for 24 months = 480 20 gds for 24 months = 480 7 gds for 30 months = 210 (b) Details of running guards 7 gds for 24 months = 168 11 gds for 24 months = 264 (c) Total 2154 Gd Months.
2	5866	Jagjit Singh Security Agency H.No. 254, Sector 7, Channi Himmat, Jammu, J&K-180015 Mob : 9930168544 Tele No : 0191-2465606 Email : jagjitsimransingh@yahoo.co.in	20	0	20	2172	(a) Details of availed guards 43 gds for 8 months = 344 7 gds for 4 months = 28 7 gds for 16 months = 116 4 gds for 25 months = 100 17 gds for 24 months = 408 3 gds for 24 months = 72 26 gds for 24 months = 624 (b) Details of running guards 6 gds for 24 months = 144 14 gds for 24 months = 336 (c) Total 2172 Gd Months.

Г			Page 2				
	3 82	Rahul Khajuria Security Agency H. No - 79 East Extension -1A, Ward No. 53, Jammu, J&K-180020 Mob: 9599389073 Tele No: 0191-3576440 Email: jmu_rahul@yahoo com	76	0	76	5 182	(a) Details of running guard 3 gds for 24 months = 72 4 gds for 24 months = 96 6 gds for 24 months = 144 10 gds for 24 months = 240 7 gds for 24 months = 168 20 gds for 24 months = 480 4 gds for 24 months = 96 10 gds for 24 months = 240 12 gds for 24 months = 288 (b) Total 1824 Gd Months.
4	4 810	Mob 6005059688, 9560047908 & 9625696342 Tele No 0191-2950295 Email gharika_s@yahoo co in	107	0	107	245	(a) Details of running guards 25 gds for 24 months = 600 13 gds for 24 months = 312
5	5 872	Rajinder Kumar Sharma Security Agency H No 1, Babliana Enclave, Gadi Garh (Lower), Jammu, J&K - 181101 Mob 9469327322 Tele No : 0191-4071980 Emaill : rksharmakcsc@yahoo.co.in	79	0	79	1596	(a) Details of running guards 23 gds for 24 months = 552 10 gds for 24 months = 240 6 06 gds for 24 months = 144 15 gds for 24 months = 360 25 gds for 12 months = 300
6	887	Roop Lal Panhotra Security Agency Ward No. 1, Near Power House, P.O. Rehal, Bishnah Adda, Jammu, J&K-181132 Mob: 7006045832 Tele No: Emaill: panhotra528@gmail.com	54	0	54	1296	(a) Details of running guards 04 gds for 24 months = 96 03 gds for 24 months = 72
7	6338	Kamal Singh Oberh Security Agency Shop at Peer Baba Morh, Govindpura, Jammu Cantt, Jammu (J&K) - 180003 Mob : 9419279496 Tele No : 8888022624 Emaill : kamalsinghoberh@gmail.com	50	23	73	1752	(a) Details of running guards 07 gds for 24 months = 168 16 gds for 24 months = 384 20 gds for 24 months = 480 07 gds for 24 months = 168 (b) Details of UN guards 23 gds for 24 months = 552 (c) Total 1752 Gd months.
3	7110	Arun Kumar Gandotra Security Agency H. No. 111, Rajinder Nagar, Canal Road, Jammu Tawi, Jammu, (J&K) - 180016 Mob: 9622220390 Tele: 0191-2581001 Email: arungandotra@hotmail.com	55	4	59	1248	(a) Details of running guards 17 gds for 24 months = 408 18 gds for 24 months = 432 03 gds for 24 months = 72 03 gds for 24 months = 72 14 gds for 12 months = 168 (b) Details of UN guards 04 gds for 24 months = 90
	0000	Raj Kumar Mengi Security Agency H. No. 174C, Suraj Nagar Lane 6, Talab Tillo, Jammu, (J&K) - 180002 Mob : 7006399338 Tele : 0191-2506477 Email : mengirk@yahoo.co.in	53	0	53	1272	(c) Total 1248 Gd months. (a) Details of running guards 34 gds for 24 months = 816 19 gds for 24 months = 456 (b) Total 1272 Gd months.
	8806	Satish Kumar Security Agency 18-A, Extension Gandhi Nagar, Jammu, J&K-180004 Mob: 7986804051/ 7602044088 Tele No: Email: mudgils993@gmail.com	35	26	61	1464	(a) Details of running guards 35 gds for 24 months = 840 (b) Details of UN guards 03 gds for 24 months = 72 23 gds for 24 months = 552 (c) Total 1464 Gd months.

11	7502	Parijat Bakshi Security Agency Shop at Purmandal Morh, Opp- Shiv Market, Jammu, J&K-180011 Mob: 9419266427/ 9797660758 Tele No: 0191-4011095 Email: parijatbakshi@gmail.com	38	28	66	1284	(a) Details of running guards 27 gds for 24 months = 648 11 gds for 24 months = 264 (b) Details of UN guards 25 gds for 12 months = 300 03 gds for 24 months = 72 (c) Total 1284 Gd months.
12	9509	Rashtar Bandhu Dogra Security Agency Ward No 4, House No 109, Mukherjee Bazar, Ramnagar Chowk, Udhampur, J&K-182101 Mob 7588600450 Tele No 01992-460240 Email pbdogra1966@gmail.com	0	53	53	1272	(a) Details of UN guards 09 gds for 24 months = 216 10 gds for 24 months = 240 15 gds for 24 months = 360 07 gds for 24 months = 168 12 gds for 24 months = 288 (b) Total 1272 Gd months.
13	9508	Iqbal Hussain Rather Security Agency Yard No 02, Shop No 53, Transport Nagar, Narwal, Jammu, J&K-180001 Mob 9622237777 Tele No Email iqbalhussain70@gmail.com	0	55	55	1320	(a) Details of UN guards 14 gds for 24 months = 336 08 gds for 24 months = 192 07 gds for 24 months = 168 07 gds for 24 months = 168 14 gds for 24 months = 336 05 gds for 24 months = 120 (b) Total 1320 Gd months.
14	9779	Mufti Masood Ahmad Security Agency Chowadhi Near Noor Castle, Jammu Jammu & Kashmir-180011 Mob : 8004941516 Tele No : Email : muftimasood7@gmail.com	0	53	53	1272	(a) Details of UN guards 53 gds for 24 months = 1272 (b) Total 1272 Gd months.
15	9814	Abhey Pal Singh Hansi Security Agency H. No. 37, Talab Tillo, camp Road, Indira Colony, Jammu, J&K - 180002 Mob: 7027637236 Tele No: 0191-2501815 Email: colonelabheyhansi@gmail.com	0	53	53	1272	(a) Details of UN guards 53 gds for 24 months = 1272 (b) Total 1272 Gd months.

(b) Status : (Overage/ Dis-empanelled - Running Guards)

S.	Emp	Name of Security Agency	Date of		Guard Det	ails	Remarks
No	No		Overage	Running	U/N	Total	
1	6274	Rajesh Thakur Security Agency H.No . 409, Sector-7, Channi Himmat, Jammu, J&K - 180015 Mob : 9418018161 Tele No : 01912960805 Email : krajesh_thakur@yahoo.co.in	7-Dec-22	21	0	21	(a) Overage (b) Details of availed guards 22 gds for 24 months = 264 36 gds for 24 months = 864 16 gds for 24 months = 384 11 gds for 24 months = 264 (c) Details of running guards 07 gds for 24 months = 168 14 gds for 24 months = 336 (d) Total 2280 gd months.
2	6419	Karam Din Bakarwal Security Agency, H.No 08, Faridiya, Colony Near Gole Masjid Sunjwan, Jammu, J&K - 180011 Mob: 7006769808, 9469113565 Tele No: 0191-3569094 Email: khatana5987@gmail.com	12-Apr-23	8	O	8	(a) Overage (b) Details of availed guards 3 gds for 12 months = 36 22 gds for 12 months = 264 04 gds for 24 months = 96 03 gds for 24 months = 71 03 gds for 24 months = 72 07 gds for 24 months = 168 18 gds for 24 months = 432 36 gds for 24 months = 864 (c) Details of running guards 08 gds for 24 months = 192 (d) Total 2195 gd months

3		Mob : 9868265233/ 8825029298 Tele No : 0191-3575745 Email : badialemail@gmail.com Surinder Singh Blouria Security Agency	24-Nov-24	104	0	104	(b) Details of running guards 104 gds for 24 months = 2496 (c) Total 2496 Gd Months. (a) Overage
4 8	8998	H. No. 20, Lande -19, Greater Kailash, Sainik Chowadi, Distt- Jammu, J&K - 180011 Mob : 9419105483, 7051258598 Tele No : 0191-7962117 Email : ssblouria@gmail.com	31-May-24	36	0	36	(b) Details of availed guards 50 gds for 24 months = 600 (c) Details of running guards 25 gds for 24 months = 600 07 gds for 24 months = 168 04 gds for 24 months = 96 (d) Total 1464 Gd Months.
5 	8926	Raju Chauhan Security Agency Sector - A, Shop No - 31/32, Sainik Colony Jammu, (J&K) - 180011 Mob : 98715 79791 Tele : 90007 17358 Email : rajuchauhan55@hotmail.com	25-Jun-24	57	0	57	(a) Overage (b) Details of running guards 50 gds for 12 months = 600 07 gds for 24 months = 168 (c) Total 768 Gd months.